* TLARFEBDBATICAEYMS T TEEY,

* Adhesive rubber feet in cluded.

#M A% / Components

No. & ¥ / Part name | 8 / Pcs #E / Material - REALE / Color-Finish
1 Javkix)L 1 7 JLEHR A1050P ATFAVYNIN =T WAL, ATFTAVT F9IT NI
Front panel Aluminium A1050P Hairline brushed silver anodized , Hairline brushed black anodized
2 YT 3R 1 7 JLSHR A1050P YN =T LIAL, 73997 WA
Rear panel Aluminium A1050P Silver anodized , Black anodized
3 HARTL—L 2 TIVSHRH A A6063S-T5 TV TIIEE
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
IRV IL—L 2 TV A6063S-T5 U 7R
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
YFIL—L4 2 TIVSHRH A A6063S-T5 YN=TI3Ab
Rear frame Extruded aluminium A6063S-T5 Silver anodized
_E#5H/3—/ Top cover 1 $f#R SPCC / Steel SPCC AN - | 7599 / Light gray painted , Black painted
T #5/35— / Bottom cover 1 $f#R SPCC / Steel SPCC AN V- | 759hFEE / Light gray painted , Black painted
a—F—Jnavy 2 TILEE L Fv Rk ADC12 U 7R
Corner block Diecast aluminium ADC12 Gray painted , Black painted
V724—k 2 HORMEABSHIE UL94V-0 V=, 7399
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
I L JE / Rubber feet 4 KoL B> / Polyurethane 7'3v9 / Black
HAFE R (M4 x 6 H5) 4 b2 =ffiyni—+
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
HAFTER (M4 x 8 ) 8 &% =ffiynr-+
Screw (M4 - 8 Pan head) Steel Trivalent chromate
HUFE R (M4 x 10 /3 ) 4 EoS =ffiRsni-+
Screw (M4 - 10 Binding head) Steel Black trivalent chromate

G/ Title

BREUINTFEMTE

AEWORT L —R

o]

4k (2FRKEDO) / Color type (End of product number[]) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
SL% / Code /3L / Panel EThN—/ Top * Bottom cover HAKIL—L / Side frame &8/ Approved 1%/ Checked #[X/Created 1% /Product number RIE/Scale
G < JLsN— / Silver S4rJL— / Light gray 4'L— / Gray MS99-37-230
B J59% / Black J5v%4 / Black J5v% / Black £ (320 " s
BS 2 )LsN— / Silver 75v% / Black J5w% / Black 1ERLH /Date 2017/08/09




125

20

10

20

B-B(1:45)

340

230

(M

m

HARIL—1L1 / Side framel

99

6.1

)7L —.\1 / Rear framel

S~t3% / Max dim. 94

b
*

35 A-A(1:45) 175 C-C(1:45)

]

70> kJL—.\1 / Front framel

370

C
|
AR TE / Max dim. 205 AR TE / Max dim. 349
1) 7L —.1\2 / Rear frame2
B
J/ 3
3|

343

HARIL—L2 / Side frame2 340

AV IL—L2 / Front frame2

20.6

20.6

fh/Title
AZIWORT LT —R
DESKTOP ENCLOSURE

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

o]

32/Approved X/ Checked #/Created | Z4F/Product number

MS99-37-2301
T A

RE/Scale
1:45

{ERL B /Date 2017/08/09

2/ 8




02 k/\AR)L / Front panel

B ti% / Max dim. 340

/N7~ )LZR M /Panel Frontside

B#Ti% / Max dim. 83

1)J7 /N4~ )L / Rear panel

BE#~ti% / Max dim. 340

{238 — M

Surface protective film side

NTIAV A

B#~Ti% / Max dim. 82.5

/\NAJLFKE/Panel Frontside

Hairline brushed direction

fREES — A

B

Surface protective film side

343

o e i
|
i
/N JLE M /Panel Backside
3485
|
i
|
3 . — :

/N7~ )L M /Panel Backside

BRASUINTFERTS

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

w4 /Title

ARV, YT ISRV

Front panel , Rear panel

O
\Sj—

72/ Approved

#&[X/Checked

x

#I[X]/Created

HH

A% /Product number
H99 - W370

RE/Scale
1:3

YERLH/Date 2017/08/09

3 /7 8




1975 10
2-@4.2
2-@5 4-45

202 Mil / Front side

94
77

86.5
6

55
1L

HARI7L—1L1 / Side framel

35 1175

202 MMAl / Front side ’U%‘

HARIL—L2 / Side frame2

w4/ Title
[TAKACHI) #&itshFBHIE HARTU—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
7 8/Approved [/ Checked HB]/Created | Z4F/Product number RIE/Scale
H99 - D230 125
e L2 0) 48
1R B /Date 2017/08/09




30

343

333

R4

20
=0

2-M4AHY IR
2-M4 Countersunk

{

[T
O

o
O

AV IL—L1 / Front framel

[T
O

o
O

A2 kIL—L2 / Front frame2

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a4/ Title

JavkIL—L O]

Front frame

732/ Approved X/ Checked X /Created | E!F/Product number RIE/Scale
w370 -3
£ e 5, 8
{ER A /Date 2017/08/09




M4

1J727L—L11 / Rear framel

1J77L—L12 / Rear frame2

G/ Title
TAKACHI| #RAEHIDFERIE UPIL—L @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
#5/Approved #&[X/Checked X /Created FIF /Product number RFE/Scale
w370 13
ES FHt
A /Dae  2017/08/09 678




6.75

15

199.5

pu—

339.5

366.5

H3h+Hi% / Max dim. 349

R4.5

HETi% / Max dim. 167.5

12

40

282

30

6.5

S/ Title
TAKACHI| #%XEttahFERITE EhH— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
732/ Approved &/ Checked #/Created | Z4F/Product number FR/Seale
W370 - D230 1:85
_:E E]’*‘T 7/ 8

YERL B /Date 2017/08/09




6.75

15

199.5

339.5

366.5

H#~Ti% / Max dim. 349

R4.5

E#ti% / Max dim. 1675

12

6.5

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
Thi—

Bottom cover

o]

7R/ Approved

X/ Checked

T

X /Created

A

FIF /Product number

W370 - D230

RE/Scale
1:35

{ERL B /Date 2017/08/09




